T¥ei BRin

S8 GR) 1:12:18 B =
BERBYR
T 153 IR I I 5K
IRtz Fon - FA L F L 6. 00Kn 4.0975Kn 3. 00Kn 3. 00Kn 5. 000Km
i 411508 mesnm B #ix @ A& @E (1) |EH 2@ 0 |BE 5F 0 Eik B O
10 Y Hzy 2f A L5 119 7% F 9 4 43
(1) 20:09 | (1) 3520 | (1) 453 | (D 56:11 (1) 1:15:08
(1) 21:00 | (1) 1411 (1) = 10014 | (1) 1037 | ( 2) 1857
2 2/ 1:16:00 =T +A B#f Q) Ay #HH 2 HER = (2 EH ®BE ) wWAE ol ()
Y1’y £y 19492 71 9IvY 7AN tj4 fI WA bt
(2 2140 | (2 36:19 | (2 4655 | (2 571:37 | (2 1:16:00
(2 21140 | (2 14:39 | (2 10:36 | (2 1042 | ( 1) 18:23
3 1]1:22:54 ey ¥a W& (1)  BH B Q) EE E () HE EE (1) BB f2F ()
Uz 13 L5 R E 0 74 T 5 Y5 34
(3 22:08 | (3 37:35 | (3  49:51 ( 3) 1:03:08 | ( 3) 1:22:54
(3 22:08 | (3 15227 | (3 12:16 | (3 1317 | ( 3  19:46
4/ 3/ 1:35:38 |m=i— THE OBEL () BmA ' (1) B¥ Bpx (1) |HE FiH () e RXE 2
E5t) 74 3% T k5 143 PR3 Uk S
(&) 2419 | (4 4327 | (4  57:19 | ( 4) 1:10:59 | ( 4) 1:35:38
(&) 24119 | (&) 19:08 | (4 1352 | ( 4)  13:40 | ( 4)  24:39
BEREE (EH) BRRE(ERIX) |EMaEY (BE) ERPR (HBH) NEP S5 F (BE)
19:54 13:47 10:14 10:03 16:56

RTIERN Y S ERERE =S



TFaik BRin
£5182 (GR) 1:12:18 B =

Iz 2 Bh=

F—L 1 2 3 4 5 JERLtn -84 L F—L
POERE || 7 1 4 1:15:08 mEZEE)IFHE
ERIE 2 2 1:16:00 SHT=
=R 3 1 1:22:54 ZBH
=— 4 3 1:35:38 &fr—




BFERE wFHEUO2ESFFRRCHGERZEIIRFTES BAE—ER

[O—F : 22361003]

202241168 11851569 RA—Fk = £ Bl BB
[% i%iﬂ%tﬂ‘rﬁ%@d\l‘lﬁﬁﬁﬁ%:—z WREE. AH FL
a— :

I #FNRHFZRES FIRSEFREETER FIRLEREGS BEHMEL
& B OHKRAKR—ViREEAZEI

TFER BRIB

BE s _
JIE 132 F— L AL 8% B5E
Z B m=EEINNE 1:15:08
T2 |G Ix 1:16:00
% 31 |ZBH 1:22:54
E X ROAr=Y /N 1:35:38
XEE _
X [ K#£ F—LA A8 B=
1X (6. 00Km) EFl Fic (2) m=EF)IE 21:09
21X (4.0975Km) |[KP&8 HZx (1) m=E)IfE 14:11
3[X (3. 00Km) gR EE (2 pr oot I i 10: 14X 2 A
41X (3. 00Km) #mE FiF Q) Pl N i 10:37
5K (5. 000Km) wHE a7l Q) = N 18:23

avT4av

i5¥7 P KR 53 JE 7] JRE B
11:00 Eh 16°C 58% £ 0.2m/s
12:00 EN 17°Cc 55% it 1.5m/s |FOIMNAEFERI—X
13:00 BN 18°C 51% it 1.0m/s




